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Which of the following fibres is
known as “Artificial Silk” 7

(1) Rayon

(2) Nylon

(8) Linin

(4) Wool

Napping is a finish which is
applied to

(1) Cotton

(2) Rayon

(3) Wool

(4) All of these

Flocking is a finishing technique
which consists of attaching
to the surface of the fabric.

(1) Staple fibres
(2) Filament fibres
(3) Mono-filament
{4) None of these

Calendaring is a mechanical
finish which is used to

(2) Smoothen the surface

(b) Provide various surface effect
(c) Lift the fibres from the fabric.

Which of the statements given
above are correct 7

(1) (a)and (b)
(2) (a)and (c)
(3) (b)and ()
(4) All of these
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Shrinkage of cotton fabrics can be
reduced by which process ?

(1) Felting

{(2) Mercirization
(3) Sanforisation
(4) Calendaring

The primary properties of fibre are :
(a) High length to width ratio
(b) Flexability and Tenacity

(c) Spinning  quality and
Cohesiveness

(d) Uniformity

Select the correct answer.
(1) (a)and (b)

(2) (c)and (d)

(3) (a), (b) and (c)

4) (a), (b), (c) and (d)

The property of flexibility is an
advantage to the fibres because of
which reasons ?

(1) Drapability

(2) It moves with the body

(3) Create Crease

(4) All of these

Which of the following is not a
textured yarns ?

(1) Stretch yarns

(2) Modified stretch yarns

(3) Boucle yarn

(4) None of these
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Agzoic or Napenthol dyes are used
for which of these fibres ?

(1) Cellulosic fibres
(2) Wool fibres

(3) Metallic fibres
(4) None of these

Orlon is a type of which fibre ?
(1) Man-made fibre

(2} Protein fibre

(3) Acrylic fibre

{(4) Cellulosic fibre

in a loom the  process of

tightening of cloth is called
(1) Reed

(2) Betting

(3) Picking

(4) Shedding

The finishing process that gives
stiffness to the fabric and help to
maintain its shape is called

(1) Sizing

(2) Tantering

(3) Calendaring

(4) Sanforising

In dope dyeing which types of
fibres are dyed ?

(1) Vegetative fibres
(2) Synthetic fibres
(3) Mineral fibres
(4) Protein fibres
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The best substitute of wool is
(1) Silk

(2) Nylon

(3) Orlon

(4) Terylene

The long continuous man-made
fibres are called

(1) Staple yarns
(2) Filament yarns
(3) Spun yarns

(4) None of these

Fibres produced from two or more
fibres that have been mixed
before spinning are called

(1) Blended yarns

(2) Synthetic yarns

(3) Filament yarns

(4) Staple yarns

. The manufacturing of tussar silk

is done in

(1) Kashmir

(2) Assam

(3) Nepal

(4) Bengal & Bihar

The process that prepares the

flax fibres for spinning by laying
them parallel is ealled

(1) Hackling
(2) Retting

(3) Rippling
(4) Scutching
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Flannel is a type of fabric which
is made from

(1) Cotton yarns

(2) Silk yarns

(3) Woolen or worsted yarns
(4) Blended yarns

The process of combining and
twisting of strands of reeled silk
into tightly twisted yarn is called

(1) Picking

(2) Throwing

(3) Reeling

(4) Spmmng

Natural dyes are not obtained from
(1) Animals/insects

(2) Minerals

(3) Chemicals

(4) Plants

. Which of the following fabrics

would be produced by using
warp-knitting with multi-
filament yarn ?

(1) Double knit fabric

(2) Inter-lock

(3) Single knit jersey

(4) Tricot

. A chemical finish given to cotion

to increase lusture, strength and
dyeability is called

(1) Fulling
(2) Scouring
(3) Bleaching

{(4) Mercirization



24,

26.

27.

28.

6w St el & =ike
(1) HE S ¢ |

(2) il i =S % el |
(3) @i (1) 3R (2)

(4) Iatiem o & IS A8

aEs 9@l &1 0 A 8

(1) WrEREa g

2 WMduERE|

(3) Taw FeigR B & |

(4) Gz g wds Edi R |

£ & @ 2 & gd vhe § Sl w0
I e ?

1) e wm

@) TETH

(3) WTEA S

(4) IFE TS

A Ham | TERHENE |
(1) ¥+ fFuEe

(2) eEweH

(3) BF (1) 3 (2)

(4) IFITH T HIS AL

F9rg % 1 fgs g Ol o e 8 9
27

(1) Hig AFEEH 37 &

(2) TSl e A

(3) ik = H
(4) I @4t

24,

25.

26.

Clothing

because

(1) Required by law.

(2) To identify the fabric
contents

(3) Both (1) and (2)

(4) None of these

labels is important

Not the Property of worsted
fabric :

(1) Fibres are long.

(2) Fibres are straight.

(3) Surface is fuzzier.

(4) Surface is smooth and
attractive.

In which weaving method cards
are used ?

(1) Twill weave
(2) Plain weave

(3) Pile weave

(4) Jacquard weave

The yarns of Orloe are of
types.

(1) Spun fibres

(2) High bulk fibres

{3) Both (1) and (2)

(4) None of these

. The cotton fibres are totally

destroyed by

(1) Concentrated inorganic acid
(2) Hydrochloric acid

(3) Nitric acid

(4) All of these
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What type of dyes are suitable for
wool and silk ?

(1) Acidic dyes
(2) Basic dyes
(3) Vat dyes
(4) Mordant

Why crocking of colour occurs ?
(1) Colour loss in water.

(2) Colour loss from rubbing or
abrasion.

(3) Shifting colour to
surrounding area.

{4) None of these

the

Discharge printing is done on
what types of fabrics ?

(1) Light coloured fabrics
(2) Piece Dyed fabrics

(3) Blended fabrics

(4) Plain fabrics

Till the thirteemth century the
best quality wool (Marino wool)
was manufactured in

(1) Europe

(2) India

(3) Nepal

(4) France

In heat transfer printing the

designs are transferred to fabrc

by

(1) Rollers

(2) Printed paper by heat and
pressure

(3) Metallic cylinders

(4) None of these
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. Which one

The factors that affect the colour

fastness are

(1) Chemieal nature of fibres.

(2) Penetration of dyes into the
cloth.

(3) Chemical nature of dyes and
pigments.

(4) All of these.

Elasticity involves two factors
one is elongation and the other is
(1) Recovery

(2) Strength

(3) Flexibility

(4) Width

To impart dimensional stability

to the fabrics, the method applied
is called

(1) Heat setting or thermosetting
(2) Ginning

(8) Polarization

{4) None of these

. The process of unwinding the

filaments from
called

(1) Degumming
(2) Reehng

(3) Ginning

(4) None of these

the cocoon 1s

of the following
structures make wool suitable for

dyeing ?
(1) Amorphous structure
(2) Crystalline structure
(3) Hydrophobic structure
{4) Morphological structure
=]
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Balance of cloth is the proportion
of

(1) Weft yarns to filling yarns.
(2) Warp yarns to filling yarns.
(3) Both (1) and (2)

(4) None of these

Labelling of fabrics is done for
(1) Designer identification
(2) Fiber content

(3) Care instructions

(4) All of these

What is the effect - of

mercerization on the fibres ?

(1) It increases the strength of
the fibre.

(2) 1t increases its absorbency.

(3) It increases lusture.

(4) All of these

The process of producing raised
figures or designs on the surface
of the fabric is called

(1) Tentering

(2) Embossing

(3) Pressing

(4) Moireing

The breaking strength of a fibre
is called

(1) Tensile strength

(2) Stripping

(3) Taking up

(4) Throwing

Pilling, occurs due to abrasion
and e

(1) Incorrect laundering

(2) Stretching

(3) Ironming

(4) None of these
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45. The method used to test water
repellency of fabric are
(1) Static Absorption Test
(2) Dynamic Absorption Test
(3) Both (1) and (2)
(4) Neone of these

Which type of fibre is spandex ?
(1) Creasec resistant fibre

(2) Waterproof fibre

(3) Elastomeric fibre

(4) Flame resistant fibre

Which of the following is the
strongest fibre ?

(1) Nylon
(2) Acrylic
(3) Flax

(4) Rayon

Degree of polymerization for
polyester ranges between

(1) 50—170
(2) 90-115
(3) 115 - 140
(4) 140 -165

. The raw materials used for
making glass fibre are

(1) Limestone
(2) Silica
(3) Sand
(4) All of these
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55. Felt is made by combining rayon

. 56.
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59.

with

(1) Wool
(2) Cotton
(3) Jute
(4) Silk

fibre.

Process of printing in which the
some areas of fabric are coated
with wax is called

(1) Block printing
(2) Batik printing
(3) Discharge printing
(4) Roller printing

Glass fibres cannot withstand
(1) Abrasion

(2) Twisting

(3) Bending

(4) All of these

Which of the following fibres - on
burning smells like burning hair ?
(1) Cotton

(2) Flax

(3) Wool

(4) Jute

The process by which seeds are
separated from cotton balls is
called

(1) Spinning

(2) Carding

(3) Ginning

(4) Slivering
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Which one of the following has no
influence on air permeability of
fabric?

(1) Fabric's cover factor

(2) Yarn Twist Density

(3) Fabric stiffness

(4) Fabric porosity

The Wool Products Labelling Act
was passed in which year ?

(1) 1952

(2) 1939

(3) 1946

(4) 1936

The process by which fibres are
combined and pulled onto the reel
is called

(1) Throwing

(2) Reeling

(3) Spinning

(4) Sizing

The neutral dyes are applied on
which fibres ?

- (1) Cotton

(2) Linin
(3) Rayon
(4) All of these

The property of a fiber to repel
water is called

(1) Hydrophobic

(2) Hydrophilic

(3) Moisture absorption
(4) None of these
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| 65. The oldest method of direct

printing is

(1) Roller printing
(2) Block printing

(3) Screen printing
(4) Flock printing

Which of the following point is

not considered in the tearnng test

of the fabric ?

(1) Strength required for tearing.

(2) Sound made by the fabric on
tearing.

(3) Shape of the corners (sides)
of the fabric.

(4) Dimensional stability.

. Knitted fabrics are those in

which

(1) Series of interconnected loops
made with one or more sets
of yarns.

(2) Yarns
angles.

(3) Both (1) and (2).

(4) None of these.

The finish that is applied to

fabrics to keep them wrinkle free

and crease resistant is called

(1) Permanent press

{2) Antistatic finish

(3) Antisnag finish

(4) None of these

interlace at right

. Which property of cotton makes it

suitable for printing ?

(1) Crystalline structure

(2) Dimensional stability
(3) Hydrophilic nature
(4) None of these
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T1.

T2,

‘7 twist is .
(1) Single, ply, spun, fancy

(2) Blended with another type of
fibre

(3) Slub yarn
(4) Clockwise

In textured yarn, mainly _
fibre is used.

(1) silk
(2) Cotton
(3} Nylon
(4) Flax

Perspiration can affect fabrie to
(1) Change its colour

(2) Staining

(3) Smell

(4) All of these

. The elastic recovery of wool fiber

is (% elongation).

(1) 99% recovery at 2% extension
(2) 98% recovery at 1% extension
(3) 96% recovery at 3% extension
(4) 97% recovery at 4% extension

Theﬁnishededgesﬂfafabricm
called

(1) Count of cloth
(2) Selvedge

(3) Balance of cloth
(4) Weave
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The proportion of warp yarns to
waft yarns is called

(1) Balance of cloth

(2) Count of cloth

(3) Dimentional stability

{4) None of these

Which of the following processes
are types of General Mechanical
sEiing?

(1) Ring spinning

(2) Mule spinning

(3) Self twist spinning

(4) All of these

With mule frame which type of

varns are produced ?

(1) Small, fine and
yarns

(2) Thick and scaly yarns

(3) Both (1) and (2)

{(4) None of these

Lustrous

The objectives

finishes to fabrics is

(1) To increase the beauty and to
enhance appearance.

(2) To increase ufility.

(3) To increase the stiffness and
weight.

(4) All of the above.

of applying

Technigue used to avoid pilling
on fabric is

(1) Singeing
(2) Ginning
(3) Carding
(4) Combing
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| 83.
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80.

Polyester dissolves in

(1) Hot phenol

(2) Meta Cresol

(3) Concentrated  hydrochloric
Acid

(4) Formic acid

Which fibre is affected by moth
and fungus ?

(1) Cotton
(2) Nylon
(3) Polyester
(4) Rayon

What is the wvariation of plain
weave 7

(1) Basket weave

{(2) Rib weave

(3) Jacquard weave

{4) Pile weave

Which of the following is a water
insoluble dye ?

(1) Direct dye
(2) Acid dye

(3) Vat dye

(4) Reactive dye

Which of the following is not a
direct style of printing ?

(1) Stencil printing
(2) Block printing
(3) Batik printing
(4) Screen printing
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85. What is added to improve the
colour fastness of direct dyes ?

(1) Sodium chloride

{2) Sodium bicarbonate
(3) Potassium sulphate
(4) None of these

The process of interlacing three
or more yarns or fabric strips
forming a tubular narrow fabric
is called

(1) Quieting

(2) Braiding

(3) Stretching

(4) Weaving

What is Viscose Rayon ?

(1) Natural fibre

(2) Regenerated fibre

(3) Synthetic fibre

(4) Chemically modified fibre

Protein in wool is known as
(1) Sericin

(2) Fibroin

(3) Keratin

{4) None of these

. Which of the following fibres has
excellent elasticity ?

(1) Cotton
{(2) Polyester
(3) Nylon
{4) Rayon
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The test which is used to
measure the capacity of a fabric
to expand when subjected to
pressure is called

(1) Bursting test
{2) Burning test
(3) Tearing test
(4) None of these

Theaﬁct of acid on cotton fibres

s

(1) They become colourless and
then dissolves.

(2) They do not dissolve.

(3) No changes occur.

(4) None of these.

A protective coating is found on
the cotton fibre. The coating is

(1) Protein

(2) Fat

(3) Wax

(4) All of these

The short fibres of linin are
known as

(1) Filament
(2) Staple
(3) Tow

(4) Line

. The fabric produced from spun

silk 1s of

(1) Higher quality
(2) Medium quality
(3) Lower quality
(4) None of these
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£ BB#

Weft knitting is also known as
(1) Filling knitting

(2) Plain knitting

(3) Both (1) and (2)

{(4) None of these

In skein dyeing

(1) The fabric is dyed.
(2) The yarn is dyed.
(3) The fibres are dyed.
(4) All of these

Nylon-6 is a polymer of

(1) Adipic acid

(2) Hexamethylene diamine
(3) Hydrochleric acid

(4) Caprolactum

The property of melting when
heated of man-made fabrics is
called

(1) thermoplastic

(2) Electrical conduetivity
(3) Flammability

(4) Pilling

. Elastomeric fibres does mnot

possess the property of
(1) A high degree of elasticity.

" (2) Resistance to chemicals.

(8) Resistance to cutting and
tearing.
(4) All of these.
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100. Fibre that burns rapidly with a
yellow flame leaving a small
amount of light grey residue is

(1) Rayon
(2) Cotton
(3} Nylon
{4y Wool

101. Combing is the process by which
(1) Natural fibers are sorted and
straightened.
(2) Twist is inserted.
(3) Polymerization is done.
{(4) Chemical is applied on the
fabric.
102. Hackling is the process by which

(1) Separating short fibres from
long fibers.

(2) Laying the fibres parallel.
(3) Stiffening the fibres.
(4) None of these.

103. Which of the following grows best
in a black soil and warm climate ?
(1) Cotton
{2) Flax
(3) Jute
(4) Silk

I

|

i

!

i

} 104. Zinc oxide paste is used in
! (1) Extract printing

| @ Blotdi peisting

{ (3) Duplex printing

i (4) Resist printing

22 05
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| 105. Yarn distortion is not caused by
| () Lengthofyarn
’ (2) Yarn count

(3) Type of yarn

(4) Weave

106. Glass fibre gets affected only by
(1) Sulphuric acid

(2) Oxzalic acid

(3) Hydrochloric acid

l (4) All of these

107. The synthetic fibres are made

from
(1) Cellulose fibres
(2) Protein fibres

(3) With some chemicals or
material ]
(4) None of these

108. Denier is the term applied to the
strength of
(1) Fibre
(2) Yarn
(3) Fabric
(4) Garment

|
i
i
|
| 109. The process of boiling the silk
i fibre is hot and soapy water is for
i (1) Abrasion

i (2) Degumming

} (8) Creasing

] (4) Calendaring
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110. The process of raising fibres on

111.

112.

the surface of a fabric to make it
softer and increases its warmth 1s
called

(1) Gigging

(2) Glazing

(3) Bleaching

(4) None of these

The properties of silk which
makes it a queen of the fibres
include

(1) Smoothness

(2) Lusture

(3) Resiliency

(4) All of these

Wet spinning technique 18 used to
produce filament yarn of

(1) Cotton

(2) Rayon

(3) Silk

(4) None of these

113. Process of removing fleece from

sheep.

(1) Carding
(2) Shearing
{3) Spinning
(4) Ginning

.Singcingn{pohrasberisdﬂnem

(1) Increase strength

(2) Reduce pilling

(3) Improve dye uptake

(4) Improve dimensional stability
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115. Properties of cotton to be checked
before spinning are

(1) Moisture Regain
(2) Tensile strength
(3) Colour

(4) All of these

116. Which fibre property is less in
Orlon ?
(1) Tensile
(2) Resiliency
(3) Strength
(4) Elasticity

117. Metallic fibres are made of which

of the following ?
(1) Made of metal
(2) Metal coated plastic

(3) Core completely covered with
metal

(4) All of these

A dimensionally stable fabric can
be defined as one which has

(1) Good elastic recovery,
resiliency & cohesiveness

{(2) Good strength
(8) Neither shrink nor stretch
(4) All of these

. Spandexisa ___ fype of fibre.
(1) Polyacrylonitrile
(2} Polypropylene
(3) Polyurethane
(4) None of these
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120. Tenacity of a fibre is directly

121.

related to

(1) Polymer orientation & strength.

(2) Length of polymer.

{3) Inter-polymer  forees
attraction.

(4) Al of these.

of

Maximum resiliency is found in
which fibre ?

(1) Polyester

(2) Silk

(3) Wool

(4) Rayon

122, The fabric finish which does not

gives lusture to fabric
(1) Calendaring

(2) Glazing

(3) Cireing

(4) Tentering

123. Abrasion can be classified as

124,

(1) Plane or flat abrasion
(2) Edge abrasion
(3) Flex abrasion
(4) None of these

Thread count represent

(1) The number of threads
woven into each square of
fabric.

(2) An extra long staple.

(3) Drying capacity.

(4) 100% cotton fabric.

. The Microscopic appearance of

Asbestos is

(1) Stair like structure

(2) Reod like lusturous structure
(3) Ribbon like

(4) Straight, long and needle shaped

05
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| 126. A part of loom which is a frame

127.

128.

129.

holding warp yarns threaded
through eyes of needles is called

(1) Harness
(2) Reed
(3) Shuttle
(4) Reel

Jute is called as

(1) Silver fibre

(2) Copper fibre

(3) Golden fibre

(4) Aluminum fibre

The weakest fibre among all the
synthetic fibres is

(1) Nylon
(2) Polyester
(8) Acrylon
(4) Rayon

Choose the correct alternative
from the following for cotton fibre :

(1) Longer the fibre, finer it is
(2) Longer the fiber, coarser it is

(3) Longer the fiber, it is more
non-uniform

(4) None of these.

. With the increase In moisture

content, what is the effect on the
strength of the Nylon filament ?

(1) It increases.
(2) It decreases.
(3) First increases then decreases.
(4) First decreases then increases.
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132.

133.

134. Which types

135.

131. Silk fibre is drawn from
(1) Hair
(2) Caterpillar
(3) Pupa
(4) Cocoon

Pulling out seed from cotfon is
called

(1) Scouring

(2} Looming

(3) Filtering

(4) Ginnming

What happens to wool fibre in
Acid ?

(1) It gets degenerated.

(2) It gets oxidized.

(3) It gets hydrolyzed.

(4) It gets degraded.

of designs
created by Dobby Weave ?
(1) Decorative Designs

(2) Geometrical Designs

(3) Plain Designs

(4) Structural Designs

are

Which among these fibres 1s
known to be one of the most
ancient of the textile fabric in
point of use 7 '

(1) Linin

(2) Cotton

(3) Silk

(4) Rayon
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138.

136. The elastomeric fibres possesses
which of these physical property ?
(1) Resiliency
(2) Durability
(3) Extremely high elongation
(4) Cohesiveness

137. The process of removing outer

woody portion from the stalk to
obtain fibre is called

(1) Carding

(2) Rippling

(3) Retting

(4) Hackling

The cell hke appearance on the
surface by float thread is created
in which type of weave ?

(1) Honey comb weave
(2) Huck aback weave
(3) Pile weave

(4) Sateen weave

139. The metallic threads arc made by

drawing out
(1) Gold

(2) Silver

(3) Copper
(4) All of these

. The warp threads are mounted
on a weaving harness, which is a
frame of a number of wires is
called

(1) Shuttle

(2) Heddle

(3) Reed

(4) None of these
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Manmade filament fibres
converted into staple length in

(1) Synthetic fabrics
(2) Modified fabrics
(3) Mixed fabrics

{(4) None of these

are

What makes a wool fibre strong ?
(1) Overlapping scales

(2) Smooth fibre surface

(3) Varying lengths

{(4) None of these

The spinning system that does
not generate false twist during
spinning is called

(1) Ring spinning
(2) Mule spinning
(3) Rotor spmning
(4) Air Jet spinning

The fiber which has a mineral
origin is
(1) Asbestos

(2) Silk

(3) Flax

(4) Acrylic

The Fur Products Labelling Act
become effective in which year ?
(1) 1952

(2) 1956

(3) 1953

(4) 1967
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Which of the following is the
strongest natural fiber ?

(1) Silk
(2) Wool
(3) Cotton
(4) Jute

Alkaline Dyes are used for dyeing
which fibres ?

(1) Cellulosic fibres
(2) Animal fibres
(3} Both (1) and (2)
(4) None of these

The most common variation of
the twill weave is

(1) Satin weave

(2) Herringbone

{(3) Rib weave

(4) Basket weave

The highest quality of linin fibres
are obtained from

(1) Flax plant with blue flowers
(2) Flax plant with white flowers
(3) From both (1) and (2)

(4) None of these

. The worsted fabrice are made

from which of these fibres ?
(1) Staple woolen fibres

(2) Filament woolen fibres
(3) Staple cotton fibres

(4) Filament cotton fibres
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